
Anlage –   Berechnungsblatt  
 

 Besetzung Hauptausschuss mit 8 Sitzen 

 
 

 CDU 

(FDP) 

 

 

8 

AfD 

 

 

 

4 

Bürger- 

bewegung 

HDL 

 

4 

DIE 

LINKE 

 

 

4 

Bürger 

fraktion 

(WPA+ 

FUWG) 

4 

 

GRÜNE 

 

 

 

2 

SPD 

 

 

 

2 

Summe 

 

 

 

28 

Berechnung 

der  

Verhältniszahl 

 

 

8 x 8: 28 

= 2,29 

 

8 x 4:28 

= 1,14 

 

 

8 x 4:28 

= 1,14 

 

8 x 4:28 

= 1,14 

 

8 x 4:28 

= 1,14 

 

8 x 2:28 

= 0,57 

 

8 x 2:28 

= 0,57 

 

Sitze nach 

ganzen Zahlen 

 

 

2 

 

1 

 

1 

 

1 

 

1 

 

0 

 

0 

 

6 

Sitze nach 

Zahlenbruch-

teilen 

 

 

- 

 

- 

 

- 

 

- 

 

- 

 

1 

 

1 

 

2 

Gesamtzahl der 

Sitze 

 

 

2 

 

1 

 

1 

 

1 

 

1 

 

1 

 

1 

 

8 

 


